(L2EAS - ROTEEAS MBI TEEARAR MEULY: - L2 T2
24 1 - T IR

WH B5:2019412 A 26 H (k) 15:30~16:25
BE 5 BARZNSE 5 5—AQ)RE=
W HEE - (WORRIE)
B[R« FIT « TR - BN - 2R - KON - 120k - BAAR - IRE - 4% - B0 - R -
FEEVDHRF- - RN - - R
| PRGN Y
FEAE - AR TR - 3 =0 - B - BPE
WECAER: BE 1 AT EE. AiREF AT
BE 2 AT AR T T AT2050 4 R ATRE /e = R L X —tE& & HAF L T
RREE

| E
1. AiEEE S OMERIZ OV T
BEIZ A — W\ CHERBI% . WEB fa %

uu

2. SHBDONBY VAR T T AEEEIZHOWVT

FEMETZEENS, SBONMT VR T L 12050 4, kil = x L X —HE%
HfE LTl IZOWToMAR 2SN, BAfERIZ3 A5 B OK) & TiE., s 2 PRI 2,
AFOFRER (777 M=% @&, KFE, Kfthzoevary) #FELTBY, 20
%, NRNVT 4 ATy va i | FERRRET 5 TE, NEICET dasna T o 7o%. EE
IZOWTHRR STz,

3. EEORMIZANT TOFEMmIZ OV T

HIJIEODV/nLVV?JA@%Eﬁ% P& E BEOEHICOWTHLEROKZH AT, &
NoO@EmEEEL, APBEORICHEETEETDY, BEOREEZ ED X 512D TITL
MITOWTIRFET, IREZERT D 2 & KR ST,

4. ZFDOMIZHONT
35 H (OK)13:15 2O ABY VAR Y w7 A% Ei, FRTHI & BN E 5 & e,
IEE B I T E,

Uk



